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e But here, even though k = 3, the data are not colored "naturally"!

In [5]: util.visualize_centroids([(2, 7), (8, 4), (3, 7)]1)

Clusters for 3 centroids:
(2,7),(8,4),(3,7)
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e Nothing is stopping us from setting k = 2, for instance!

In [6]: |util.visualize centroids([(2, 7), (8, 4)])

lusters for 2 centroids:
2,7),(8,4)
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e Ork = 5!

In [7]: |util.visualize_centroids([(4, 4), (5, 5), (6, 6), (7, 7), (8, 8)1)

Clusters for 5 centroids:
(4, 4), (5, 5),(6,6),(7,7),(8,8)
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Activity

Recall, inertia is defined as follows:

I(ﬁlaﬁ29°”

, i) = total squared distance =

of each point Xx;

to its closest centroid u ;
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Suppose we arrange the dataset below into kK = 2 clusters. What is the minimum possible inertia?
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0 e For several different values of k, let's compute the inertia of the resulting clustering, using the

scatter plot from the previous slide.

In [29]: util.show_elbow()

Inertia
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0 In [25]: |util.color_ratings(title='Iteration 5', labels=[2, 1, 2, 2, 5, 5, 5, 7, 7])
Iteration 5
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e And finally, we merge cluster 2 and cluster 1.

e |f we just want k = 3 clusters, we stop here! If we wanted k = 2 clusters, we'd then merge the two

closest clusters, based on the single linkage criterion.
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